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Two parents wh o do nott have MOGS-CDG have a ch ild with th e 
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1.4 

 

A parent who is homozygous dominant (AA) for the MOGS-CDG t rait 
has a ch ild with a parent who has MOGS-CDG. Which statements are 

true? 

Select TWO cor rect answers. 

Ci! There is a 0% chance that the c hild will have MOGS-CDG. 

0 There is a 25% chance that the child will have the 
Aa genotype. 

0 There is a 50% chance that the child will inherit an A allele. 

0 There is a 75% chance that the child will show t he dom inant 
phenotype. 

Ci! There is a 100% chance that t ne child will inher it an a allele. 
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